of the sequence.




“andidate’s Name: | e ——————————

Solve & xm 20 an B = 3,07 < 05 360% comeet 1o the nearest dogree:

. . Using trapezoidal rule with nine ordmates, find, correct to two decimal places, the area of
|
| the region bounded by the curve y= 3 Jthe - axis and the lines =D and x = 8.

| |l + x




- - T ————— - —— — ‘

4. . 4 asl 1
Fund the SqLaton of ¢ sotmial 10 e cunve  v= ER= x = i the powt (O i)




Candiddare’s Name: :
512,29, 13 and |
N S e e G v ol W members of a social club are 17,10, 3L, 18,2
waie
N g Laletiate the voun ey mion

6. A group consists of § men and 7 women. If two representatives are to be selected from
the group at random without replacement for a debate competition, find the probability
that they are: &
(a) both women: ’

5
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s A bullet of mass 25 g is fired with velocity (80i —2005) ms ™' into a wooden bloc_k Of;ﬂ::ssb e
4 kg which is at rest, [f the bullet got stuck in the block, find the common velocity of the bull
and the block

)




SicTion |t

(32 marky)

8 h Wy . v . :
e four guestions Oty fim i YECHOon With at deast one guestion from each Part

AN guestions carry equal marks
Paxy |
Pung Maniemarics
e + |

9. (@ Express -
1" - Sy + 16

N partial fractions

™ iic . ¢ = 56

== + 15, find the valyes of 5.

0, @ A function £ 15 defined as gix—s 1 =

3
—X_. Find the image of | under

£ "'(the inverse of g) 2 -y
. . g .
(b) A curve has an equation y= 5 3 Find, comect 1o one decimal place, the gradient of
24
the curve at x= .

-
.

1L (@) Twolincar transformations, # and Q are defined by

P, v)— (2% ty, x4+ 2y
Q:lx, y)— (2 + 3y, 2y)
(1) Write down the matrices of P and 0.

(i) Find the image of (2, - 4) under the transformation P followed by 0

(b) Salve log x = | + 2log y and 2x = 9 = 1 simultancously.

Paxr 11

Stanismics Axp Prosasiiry

12 Fifteen percent of the participants in a conference presented papers. If
10 participants is taken, find the probability that: |
(a) exactly three;
(b) not more than two,
c) not less than eighy,
presented papers,

8
24/5C4022 waecg




Candidate’s Name:

1 (a) The numbers 1,234

M.d S , t . - ! ’. f ‘hc ‘oul

he anthmetic mean 15 2. 7, find the values of p and ¢.

0.8562.
(A} The Spearman’s rank correlation coefficient of 20 students marks in TWo tests is
Find 2" ' (sum of squares of the rank difference for each pair of ranks).

Part 111

VEcTtons anxp Mecnanics

14, A body weighing 700 N
: Wbﬂ!'PM‘:I.Sm,l
calculate to three si

15 suspended at point P by two inextensible strings at points M and 7,
PT|=2.0 m and| AT =28 m_f the body remains in equilibrium,
gnificant figures. the tension in cach string

15. A particle P of mass 2 kg is acted upon by forces F | = (15 N, 090°), F, = (20 N, 000°),

F. = (30 ¥,210°) and Fy= (kN a®). If the acceleration of the particle i1s a = (14 ms ™, 240°),
« find, correct to the nearest whole number, F 4

END OF PAPER




